T A ax-2y+2=0, 2x+by+c=0 o] A (2, 4)°llA Hwg of,
& 5 44 ab,c O o2 g2 A2
@D a=-3,b=3, c=-11 @ a=-3,b=3, c=-12

®a=3b=-3, c=-13 @ a=3,b=3,c=-15

(@)a=3,b:3,c=—16

(i) F Aol Auwstrg 71871 Fo] ~10]ch.
a 2
= §X<_5):_1
= a=2b
(i) 7 &Ado] 2% 3 (2,4) & A<
= 20-8+2=0, 4+4b+c=0
(i), (ii) E AHIH,a=3,b=3, c=-16




A 2x-y-3=0, xty-3= 02 ZHES AL (0,0) & e
A9 AL ax + by = 0 0l T ol a - b 9| S Fatolel,

»
> H™et: 3

B ‘
(2x—y-3) +k(x+y-3) =022 Letd 4= Qlct

ol o, (0, 0)& AUYEZ

(-3) +k(-3)=0 . k=-

(2x-y=-3)+ (- )(x+y 3)—0°X@o}‘ﬂ

L x—2y=0

a=1,b=-2 .. a-b=1-(-2)=3




Ady=ax+beFH A2 1), B4, -3) & Ade Aol
AR,

1-(=3
254)'61:_1 O]——” —2a:—1 O]q.
o1
T2

T,y dHo] 2 0|2 p =2 0|1,

1 5
ﬂﬂﬁa+b=§+2:§




M k- y+ 3k = 1 kol BAGe] 4 DA A AS Ak
o] A% A°) FEE?

@A(—3,—1) @ A(-2,-1) ® A(-1,-1)
@ A(1,-1) ® A(2,1)

~&B

FolXl AlE kol thsto] g 2|stH
(x+3)k-(y+1)=0

9 A2 kgkell TA glo]

x+3=0, y+1=09 28 A}
Lx=-3,y=-1

A3, -1)




Ay = —mx—m+2 7} oFl 1 O] 42}

Y
2 5 A@,3
¥ ABC & A7 95t m o] ¥ 912 @.3)
®-1<m<3 @ -l<ms-
l<m el
L o CG.1)
@_53’”31 @—gﬁmsi’) o[ B0 >

®1<m<3

~&B :

Ay = —mx —m+ 2 A mx + y
y+m-2=0 A@2,3)
mx+1)+y-2=00°]B2

M P(-1, 2) 2 HtEA] Ak, PEL2DEC

—

|
w2t A y = —mx-m+2 7}t : C@3,1)
AABC & AW 9% 71271 —m 0 E?\ z
o Hele .0
(A4 PB 9] 71&7]) < -m < (A4 PA 2] 71&7])
A4 PB o 71271 20 = -1
2-3 1

214 o] 7] &7]&= ==

PA 9 71g7le 220 = 2

1
-1<-m< -
sS—m:= 3
! < <1
3 =m=




